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Dealing with Money


Circle the correct answer/s


1. Ron has 1 fifty pence coin. Jenny has 4 two pence coins. How much money do they have in total?

60p           59p           58p           57p


2.   Lily buys a postcard for ten pence and Roy buys a stamp for twenty five pence. How much have they spent altogether?

30p           35p           40p          45p


3.   Jack spends forty pence on a funnel. What two coins does he need to make that amount?

10p           20p          50p         20p


4.   Bella has two ten pence coins and Jack has 2 two pence coins. How much do they have in total?  

22p           24p          26p          28p


5.  Susan buys a black pen for 25p. Larry buys a green highlighter for 75p. How much money have they spent altogether?

£0.90           £0.95           £1.00           £1.05


6.  Steven has 1 twenty pence coin and Lara has 2 five pence coins. How much money do they have in total?

25p           28p           30p           31p

7.  Lucy bought a bottle of water for thirty pence. Sam bought a packet of crisps for thirty five pence. What is the total cost of both these items?

55p            60p           65p          70p

8.  Steve buys a stick of rock for one pound. Pam buys a candy floss for one pound and fifty pence. What is the total cost they’ve spent?

£1.25           £1.50            £2.00           £2.50  

9. Kim buys a hairband for two pounds.Kevin buys a toy car for two pounds and fifty pence. How much have they spent in total?

£3.50            £3.75           £4.00           £4.50

10. Luke buys a pencil costing 25p. Gina buys a ruler for 45p.  What is the total cost of both these items?

60p           65p           70p           75p



